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HINDI - GENERAL

Paper : LCC-2(2)

(IIindi Bhasha aur SamPreshan)

Full Marks : 65

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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B-gffi diq{ d d scrr*u Afuc t

dq oen srds aiqr b q?Fqqr sqrrrq Aftqt

wrltiajq'rqdoidrftfiEcl
sr@btu€l dHbqrctutuct
rotro v* 3[6f6 frql ?Dr v+sr vcrflq Afuc t

'q-a krc q dd G tt' qq qr@ q *isr 3iti ft-ql or sde d&qt

ffituc qrflcl b g.d $q ftfuc-
(er) gi fu-cn rr+ tt
(ur) v+n i tA qirnr frs A tt



(2)

3. fqqtutud t t tu-€f ff+ qq M fttuc

(o) <r gi aiqq

(u) arenu vs rorctur

(q) qrd{ apn tqc
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